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I. Answer the following question in one or two words.   4 x 1 = 4M 

1. GMT: 00 longitude  :: IST: _______________________________________ 

2. Doda betta : Nilgiris  :: Annaimudi : _________________________________ 

3. Canara Coast : Karnataka :: Malabar Coast : _______________________________ 

4. Pulicot : Andhra Pradesh :: Chilka : ______________________________________ 

II. Answer the following questions in one or two sentences.   2 x 2 = 4M 

5. Write the major physical divisions of India? 

6. Why do we often use the term “Indian peninsula”? 

III. Answer the following questions in four sentences.    1 x 4 = 4M 

7. Imagine that India is located in the Arctic Circle. How your life would be different? 

IV. Answer the following question in eight sentences.    1 x 8 = 8M 

8. What are the differences between eastern ghats and western ghats?  

V. Point out the following places in the given India outline map.  10 x 1 = 10M 

i. Delhi 

ii. Lakshadweep 

iii. Indo-Gangetic Plain 

iv. Thar Desert 

v. Mt. Everest 

vi. K2 

vii. The south most latitude  

of India 

viii. Indian Standard Meridian 

ix. Arabian sea 

x. Chota Nagapur Plateau  
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